e R L Aral el F 5 BURES -3 F: |
(H* A R) MESHP>L L H

i 51 =0# 21 % B~ IOk 6

i B2 = O'E 16 B2 O % 22
i B3 201k 20 % B3 (O 13
I B4 MmO 32 % 24 Ok 1

it B5 HOmg 10 % B~5 HOF 39
nP: 5t O 35 % P~6 I @EsE 30
i BT + O 8 % BT AGLT 47
i B8 + OfF 7 % B8 HO=F 24
29 0% 9 % 29 O & 31

&+ P10 RO 43 | % 210 MmO 3

P11 I O 44 | % P11 3 Ow 14
B2 + O% 15 | # 212 5OF 42
t213] FOF 33 | # P13 HO= 45
i+ 214 T O% 17 4 B~14 w7 OF 34
i P15 #2.0OF 37 | % P15 B OF 29
ﬁ%&&ﬁﬂ»ﬁ%@?@@’éﬁﬁﬁﬁiaﬁ%i%éﬁﬂﬁﬁ%ﬁ%%?

ciE* AR AFT X PELRE T BT
.50 ket o Ao L P W BRS04
ﬁ’ﬁr’rﬁ»?ﬁ';13¢#$’%md EEPE-= S TN IE-J&:‘E’*F:%.
AKEE LFIREAEE D Ao

SHINBRID P FHFRE 2 Frkh 2 WA A (Bie
wh o MBREAGS E o2 FrL T- SR h
BA? EHRALFAMR RS BRI EBEBTRL - F

pﬁ%gﬁwﬁ’%$%%ﬁﬁﬁ°
Gy ASFIIF R R 2

SAER A

P g5 nKk

P A BRI R A W
YRR




